Z:\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-14907 Awning\C - Drawings\FL 14907 (2020) R10\FL-14907.1-.3.dwg

FLEETWOOD

WINDOWS & DOOR S

Series 3800-T w/ Series 350-T

Aluminum Awning Window
w/ Thermal Break Frame
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida
Building Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone"
(HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with FBC Sections 1609.1.2 &
R301.2.1.2.

For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes
Horizontal cross sections

Vertical cross sections

Horizontal and vertical cross sections

Buck and frame anchoring

Buck and frame anchoring

Bill of materials, glazing detail and components

N|ov[ | A WIN|—

. 445"MAXO.A.

FIN WIDTH
42" MAX O.A.
42" MAX O.A. r FRAME WIDTH
FRAME WIDTH 33.48" MAX
33.68" MAX D.L.O. WIDTH
D.L.O. WIDTH
A A
/ /
- ‘ I\ 1l T A
55 [\ 50 [\
o o m oo
: g [\ T e [\
<9 / X \ i <9 / X \
% & / \ c;2 / \
3 < > d <
o3 / \ <0 / \
< = = x< :2
ik / \ XE / \
S 9 859
S [, \ S [, \
‘ 1/ \l ‘ V4 \
i’ V'’ \
FRAME MOUNT FIN MOUNT
l=— 67.5" MAX O.A. FIN WIDTH —
oz 65" MAX O.A. e 65" MAX O.A.
<§c ﬁ—? FRAME WIDTH g 0] FRAME WIDTH
i
85 56.63" MAX 85 56.63" MAX
Q5 D.L.O. WIDTH @3 D.L.O. WIDTH
() o
X X
32 /N Sz S8 /N
3z 7ox D 2 3= 7ox D
= 7 \ =2 23 / \
§g 74 \ 3= 8¢ 74 \
/ + 4
FRAME MOUNT FIN MOUNT
overall [ overall | overaw [ TDESIGN PRESSURE (PSP
s RN FRAME S DG ki
. DIMENSION | DIMENSION | DIMENSION OSITIVE | NEGATIVE
44.5" X 86.5" 42" X 84" 33.68" X 76.13" G1 +65.0 -65.0
44.5" X 47.5" 42" X 45" 33.68" X 37.88" G1 +65.0 -65.0
67.5" X 44.5" 45" X 42" 56.63" X 33.48" G1 +65.0 -65.0

7,
/,
.......... ..@z
..‘ I” g
s.'.&: '19)
'. -
Eogz‘:bﬂ
g.:zi_.,\
R8s .Con
.\sfl_) a¥T -
S OSE com
SO>S Z200
....... L-° \\ |_klo N
eche o \\ _IU(D.o
RV 2>z
\) 0
o Zom D
% om e}
3 ON-D
<l ® o x2 9
SEE z/8 ¢
Qls Eoa Qo
a £0O O . cw
e O< Zoon
DDE nwm 2 L m
N ¢ mani
ole u |
el 2 Lé
o|E cZ
ola T .
525 &
Bla 2a
%)
= @
et
o =
2 9%
%]
(= Ly
= Q<
<T oc
w zd
= Oig
o ]
Q
2 0
= Lu&
S 35
812 |338
2l & o B8
e v
x| W a
ol oo
0 >
Y XI55

1/22/15 |UPDATE TO 5TH ED. (2014) FBC |LFS | PART OR ASSEMBLY:
4/24/14 |ADD FRAME SIZE

8/10/20 [UPDATE TO 7TH ED. (2020) FBC [DAC

12/08/21|SERIES NAME CHANGE
8/22/16 [RENUMBER DRAWINGS

4 |8/07/17 |UPDATE TO 6TH ED. (2017) FBC |LFS

6

n M N|~

REVISIONS

L
<
(o)
S
=z
3

DATE: 10/23 /1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—14907.1

SHEET 1 oF 7

© 2013 R.W. BUILDING CONSULTANTS INC.



A\
INTERIOR S eI,
NOTE: See notfe 1 § Q& *‘262 0
3 1. Sheet Metal Screws must penetrate a = Sg, 8 % 2.‘-._ z 9
min. of 3 threads through at least two (2] = CJJ: 2 § x |B %3 ¢<“-__12) 9
sheets of metal. Maintain a minimum 209 o A g T ED.
1/2" edge distance. R 3 N g S oo
2, > SOSZ L0
[\ | %) T TGS 536 g
e “1 Pﬁ\“\ 3 .0%
/ \ LTS Zo%
PN ON =2
b ] § Q3 g 5
o Ji5 39
Jg 88 2558
/ \ (\ é: L,'é’ Daik
/T N\ fied
</ X \s ‘ A L
N, C2) B i &
/ \ e n
2 /| | 3
/ \ EXTERIOR o ——— e
= T Q n
% — = =
/ ) & -
= | 20
/ \ S | %
/3™ HORIZONTAL CROSS SECTION S g By
q \_2_/ Shown w/ Steel Stud opfion = |9 =2
Q (&)
2
B ™ < INTERIOR oy |E
P 23 G E [+ % Ny o
a Q
D 52)53)54 BRI x|iixix
4 INTERIOR _ olo! o
“ i . i [ I
N Ge—r - ANES
4 g : g 5 o
4 I Ly 1Y
Ca J et
’_ > : IR Zels(g)s
:: ¢ 5 3 = 5ls T % x|N
B & 3 s 0 s W g o|5|6 hV)J
1' : 5% 5 % () i <= Ol E =
_— J%— < Gl S S f,g " § wl®
: o o =] s fa
a- - e £ . - a : LUDQ.UJQQ
, 4 B 13 R 77 e [ P Ko
B 13 A SRR |elelk
a 9 - Y RN
- 19 4 NS NN Q g
. AP Nles }}b ~
m T~ [0} |y o
@ EXTERIOR 1-1/4" MIN =
@ @ EMB. (TYP.) DATE 10/23/13
/4 MIN EXTERIOR 1174 MIN. Sk N.T.S.
e, (] EMB. (TYP. /4 HORIZONTAL CROSS SECTION owe B JK
e Shown w/ Direct fo Masonry option cik. BY:  LFS
m HORIZONTAL CROSS SECTION /2\ HORIZONTAL CROSS SECTION W v op DRAWING NO.:
\y Shown w/ 2X Buck Construction \2/ Shown w/ 1X Sub buck option FL—14907.1
SHEET _2 OF _7

Z:\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-14907 Awning\C - Drawings\FL 14907 (2020) R10\FL-14907.1-.3.dwg

@ 2013 R.W. BUILDING CONSULTANTS INC.



TONG SINVITNENGD aNIaing m'sl L02 @

B AN EN)

£186 "ON Ansibey 3d4g4
1616°659°CL8 FON euoU SNOILO3S SS0¥O : -
ceane S S ron o IWOLLY3A A8 VG _TONI 2| el =N
€ 714 ‘09LIDA ‘0£Z xog oa\ww@u ! S 371S 3Avdd aav|vi/ve/v [ 1IN YIS B
WL FINVATNSNOD ONIdTINg “XIBW3SSY HO [¥Vd | S37| 084 (¥102) ‘03 HIS OL 3vadn| Gi/ee/1| ¢ | Q| . Q|
/24,@ WNO;, m.e ., i A Vmez%\ma YIENONIY| 9L /ez/8] € | g n 3_
OOV e OO, 80¥Cy "ON "I'd Sa41| 084 (Z10g) 03 HI9 oL 3vadn| Z1/z0/8] v |~| |&E|&|¢
SN0 R s s uopinT S4000 GNV. SMOGNIM QOOMLIF 4 -5m 587 (0702) “03 Wi 0L 31adn [ 02/0L/8] & | w 9lg|y E il
...l . = “ﬂmOMoLMo“MQwMMMmOOD 110NA0¥d | SA7 JONVHO JWVN S3r3siLz/g80/2L] 9 | & 3|58 &
ixi ¥ ixE
E . BOVEYON  § I
2, &@“..wm_.‘.m.u. w.) & 25
1, WHOS W 82
I o o9
O He
o
m_ ()
Z . .
- po @ ("dAL) gw3
= NIW.7/1-1
o
('dAL) "aw3 @
NIW ¥/ 1- - N @
<r

. <R

b

i/ v

e

<
‘»VV F

/" 2"\ VERTICAL CROSS SECTION
w Shown w/ 2X Buck Construction

EXTERIOR

("dAL) "awW3
NIW ./ 1-1

INTERIOR

52 )53 )54

/1" VERTICAL CROSS SECTION
w 2X Buck Construction
Shown w/ nailing fin option

EXTERIOR

o
= (TYP)

6" MAX,

(NOTE: Maintain 1/2" minimum edge distance for wood and sheet metal screws)

0.C. TYP.)

('dAL) 'O'0
XYW .9

STEEL STUD:  #10 PPH SELF-DRILLING SMS (Must penetrate a min. of 3 threads through 0.033" min. thick steel)

WOOD BUCK/STUD:  #8 PPH WOOD SCREW (Must penetrate a min. of 1-3/8" info wood substrate)

Bmpe-12067L-14\0L Y (02072) L06v1 TA\sBumelq - D\Buumy 20611 -14\sjerciddy 1onpold epuUOld - YALNINVINYId POOMIBaI{\SIUBID\'Z



‘ON| SANVLINSNGD aNiaing

‘MY ELDZ O

c186 ‘ON Ansiboy Adg4
£618699°C18 "ON Suoyd éo:w%:%mw .‘m&w%.‘moz Ad dlvd TONID | iy = 7_
GBSES 4 'OOMIDA ‘0£Z Xo8 ‘O'd \h\w@. 5P 3ZIS_3AvEa aav| vi/ve/v | 1IN 9ISl S
,:.mq_ .mkzﬁ,smzoo oNIgTINg "ATGN3SSV MO I¥Vd ['SJ7| 084 (¥102) 43 HIG OL 3lvadn| 61/zz/i| 2 | m = o &
/ZM@ Ao \m\.\\ . , P SONIMVHA ¥3GANNIN| 91/2z/8] € W g - 4_
AR LI LI /, B80¥EY "ON ‘3I'd S47] 084 (£102z) ‘a3 HI9 ol 3ivadn| £1/20/8] ¥ |~ ARAE
SOOI, wpidios -4 topesy| SHOOU ONV SMONIM Q0OMLFT |-Sor—Se 670850t P Oaioiy VAR aE AME
s doUMI8 " Q% kg peundesg suswnoog :10Na0Nd | 847 3JONVHO 3INVN S3r3s|iz/80/z1] 9 | 8| 818 | 3 g &
H % Q.= 120¢ '8 19qusdag
x :
. BOVEPON
. . h"
... . L Il
\““”NmummhmwmcgoMMWNMWH\)I“””“”l
\\\ss Io r////
Hipnwh
— <r
S = (dAL) a3
274 e . .
o ™
Q > o NIW #/1-1
2 G
4 ] i
w)
o™ -
b 2ad . U

NOTE:

. <R

% o

. /
o
q,

b

.V

<
w9

EXTERIOR

— 17" ITEM #35 LOCATION

4

0202

6262620

6262020%0%0%09

W

3

1. ltem #35 located 17"
from each end (2] tofal.

®

1-1/4" MIN.
EMB. (TYP.)

4q

17" ITEM #35 LOCATION —

o
=
>
=2
=
=
=
=
=
==
=
=
b
Ry,
A

/"1 HORIZONTAL CROSS SECTION

7“2\ VERTICAL CROSS SECTION

\‘_‘/ Shown w/ 2X Buck Construction

W Shown w/ 2X Buck Construction

Bmpre-1'2067L-14\0LY (0202) L06¥L Td\sBumesa - D\Bulumy /0611 -14\s{eroiddy 19npold epUOld - VALNINVINYId POOMISII\SIUBIDNZ




Z:\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-14907 Awning\C - Drawings\FL 14907 (2020) R10\FL-14907.1-3.dwg

2XSUB
BUCK

MASONRY
OPENING

|

]

&

| o

< ]

TYP.

e

&
s

CONCRETE ANCHOR NO

L
: @ ) A
e e T <
Y < AR
PRI ;
. ) A

2X BUCK ANCHORING
42" X 84" Max Size

TES:

1. Concrete anchor locations at the corners may be adjusted fo maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

Wl

TAPCON 1-1/4 7 4
DeWALT " " " "
uitracond 1/ 1-1/ 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splifting of wood.

5.88"

> S MASONRY
OPENlNGXN

@

L N s Y ]

See Snubber i %

—-——-————-'» 13.5"

M\
FRAME
2X SUB
BUCK

e
©z
13 See Detail 1
> —
<o
e
Sy
s O
8
s oo
e
f 5
6" ~
=T (1YP.)

LOCK JAMB
2 Point Lock

FRAME MOUNT ANCHORING
42" X 84" Max Size

SNUBBER DETAIL

DETAIL1

Detail
ﬁ e N ——— 6“
(TYP.)
I
_es
s
<o
: . e
\ % U
e

et
\\\\ X I/,,
& . ‘s,
R By
Sy o "e ,/ in
-~ \Q" %%« ]
::.‘ o) (3 < 0
=~ -'g [=] 8 K -,
- ] E QS om
: .o < . \:’-([‘) o o
ALY SPSEZ8%8
2, 2" AP EER
2, &\\ Howos
7 N 3542
I”I’,, \\ 12} -2
z
; 8%
m L S o
~nje B (¢ b P
olf ¢ zZ g
«Njo [22] e o
18 68 2 S 5 &
olE 0 509
I @acal
ole
ale o
o
EIE 62
i3 T .
a8 cui g
Ol8 2a
e
% See Detail 1 S
[se]
: :
z g
= B S
(o] g KF
2 B ¥F
= =2 X>
= u S
in Qo g @
N HS
o 3) x
[
o x
|
Bl |&
DO I [N e 1>
BiREsENE
2l |8
) i raf {rad B v
< g SN |9
'\’ O e -
ojo| o
m\“.‘,\“‘,m\‘i‘, "
2sislels| | 1B
LOCK JAMB <|w|w|Z|m O
P Slzlz |3 z Nl
2 Point Lock §E5%mm é
w
(M SIE
o
nfE =
wiclgSl<
EEEIEIER
nlSSlelSie
~o N ololw
ANRRRE
N ONNGNSE
Nloojos oo
o] M)~ %
s  HARDWARETABLE . . owTE: 10/23/13
HONAIRS scAe:  N.T.S,
Poinfs | Description Height | *Cam locks can be DWG. BY UK
2 Multipoint | > 50" | used in conjunction ox o LFS
] Multipoint £ 50" | with muttipoint lock or = ~__
Qfy. in lieu of multipoint RAWING NO.:
2 Cam* | <50" llocks FL—14907.1

SHEET 5 oF 7

b

© 2013 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-14907 Awning\C - Drawings\FL 14907 (2020) R10\FL-14907.1-3.dwg

145" MAX O.C. (TYP.) el e ¢
(TYP.)
e i i i ]
a0 TYP, —
. = Q.
“ . f et E
MASONRY /V\A
OPENING
2X SUB | .
BUCK ! ! ! ! l
2X BUCK ANCHORING
65" X 42" Max Size
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

R |ANCHOR|

‘| MIN. CLEARANCE | MIN. CLEARA
- TO ADJA .
. ANCHOR

W } i . "
1apconN® | 1/4 1-1/ 2 4
DeWALT - ) . \

uLTRacoNS| 174 1-1/4 ! 4

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

18.75" —=
~—18.75" i —13.5"

—_—= = = :
\/&__’ See Snubber
Detail
10.5" (TYP)

6"

7 = (mvp)

o 2% BUCK -_L

M o o
MASONRY / _ ‘XBUCK JI =& ¢
OPENING DIRECTTO
o SUB MASONRY

-

BUCK —/
FRAME —

G STEEL STUD
TYP.
I

| | ]

= J
WEEPHOLE J

FRAME MOUNT ANCHORING
65" X 42" Max Size

- 6" (TYP.)

17} '
SCH, 0

W

,
2o,

seeng?

SNUBBER DETAIL

December 8, 20
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

.
.
2
"

>
~
~
-
b
hnd I
".n
— .
- .
.
-9
-l
o A
’/, .
7

N
W

1\

gAY

P.O. Box 230, Valrico, FL 33595

Phone No.:

STATEOF
v LLORIDR. .+ 8
NAL

[\

S,
70

//,
BUILDING CONSULTANTS

fy
Y
813.659.9197

FBPE Registry No. 9813

FLEETWOOD WINDOWS AND DOORS
BUCK & FRAME
ANCHORING

LFS | PRODUCT:

JK
BY

REVISIONS

1/22/15 UPDATE TO 5TH ED. (2014) FBC |LFS | PART OR ASSEMBLY:

8/10/20 |UPDATE TO 7TH ED. (2020) FBC [DAC
4/24/14 |ADD FRAME SIZE

12/08/21|SERIES NAME CHANGE
8/22/16 |RENUMBER DRAWINGS

4 18/07/17 |UPDATE TO 6TH ED. (2017) FBC |LFS

8

n N~

L
<€
(=)
3
=z
3

DATE: 10/23/1

ScAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—14907.1

SHEET 6 oF 7

© 2013 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-14907 Awning\C - Drawings\FL 14907 (2020) R10\FL-14907.1-3.dwg

BILL OF MATERIALS
{TEM # | DESCRIPTION MATERIAL
A [1XBUCKSG >=0.55 WOOD
B | 2XBUCKSG >=0.55 WOOD
C | 1/4 MAX.SHIM SPACE -
D | 1/4"X 2-3/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL
£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F | #10X 2" PPH WOOD SCREW (1-1/4" MIN. EMBEDMENT) STEEL
G |1/4"X 2-1/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL
H | #10 X 2-3/4° PPH WOOD SCREW (1-3/8" MIN. EMBEDMENT) STEEL
K | #10 PPH SELF-DRILLING SMS STEEL
L | #8 PPH WS (1-3/8" MIN. EMBEDMENT) STEEL
M | #8 X 1-1/2" PPH SMS (1-3/8" MIN. EMBEDMENT) STEEL
X | STEEL STUD Min. Thk .033" (ASTM A653 GRADE 33 Fy=33 Ksi Min, Fu=45 Ksi Min) STEEL
1 | FINBLOCK FRAME (3800-T) 6063-T6 ALUM
2 | BLOCK FRAME (3800-T) 6063-T6 ALUM
3 | THERMAL BREAK ["LIQUID POLYURETHANE" by Azon USA, Inc.) ;
5 | BLOCK FRAME (350-T) 6063-T6 ALUM
7 | ZEE BAR (PANEL) 6063-T6 ALUM
9 | GLASS STOP (1/4') 6063-T6 ALUM
12 | SHEAR BLOCK 6061-T6 ALUM
13| CORNER KEY 6063-16 ALUM
14| INSERT STOP 6063-16 ALUM
19 | 2 BARHINGE $S
21 | 4BARHINGE $S
22| SNUBBER-COMMERCIAL PULL-IN BLOCK $s
23 | MULTIPOINT LOCK HANDLE sS
24 |1 POINT LOCKING BAR ({TRUTH) ss
25 | 2 POINTS LOCKING BAR (TRUTH) ss
28 | TIE BAR GUIDE (TRUTH) -
29 | KEEPER (TRUTH] $S
30 | CASEMENT ROTOR GEAR 13.5" TRUTH) $S
31 | CASEMENT ROTOR GEAR 9.5" (TRUTH) ss
35 | CAM HANDLE / STRIKE PLATE sS
36 | CASEMENT SS. TRACK (TRUTH) sS
40 | #10X 1"PPH SMS STEEL
42| MACHINGE SCREW NO 10-32, FHP .75" STEEL
43 | SCREWNO 10, UFHP 5" STEEL
44 | SCREW NO 8, PHP, .50" STEEL
46 | SCREW NO 8, FHP, .750" STEEL
48 | BACKUP NUTS STEEL
50 | BULB VINYL (EPDM 70 DUROMETER)-TREMCO -
51 | MINIBULB VINYL (EPDM 70 DUROMETER)-TREMCO -
52 | WOOD BLOCK .750" X 1.250" -
53 | ALUMINUM BLOCK .750" X 1.250" -
54 | PVC BLOCK .750" X 1.250" -
55 | SETTING BLOCK -

fe—e—0.78"

0.74"

% %
S 172 o
P

0.06" ——1- $
* }<~1.64"—>i_

L9
o |l— (05"

< : ) GLASS STOP 1/4°

o 2.82" ———>1

1.06"

|—1.98" —=]

@ INSERT STOP

4.5"

0.08"

BLOCK FRAME

L 145" ]

1.28"

2.25"

T
U

= 0.08"

D

0.7

1.93"

( : ) BLOCK FRAME

2.25"

017" —»

|

1.6

-

( : ) ZEE BAR (PANEL)

2.03"
[~——t— 0.78"

C:) GLAZING DETAIL

1/4" ANNEALED GLASS

- 1.44" =]

December 8, 2021
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

ON.
1

P.0. Box 230, Valrico, FL 33595
813.659.9187

BUILDING CONSULTANT:
Phone No.:

FBPE Registry No. 9813

S, GLAZING '%W

DETAIL AND COMPONENTS

FLEETWOOD WINDOWS AND DOORS
BILL OF MATERIAL

LFS | PRODUCT:

K
BY

8/07/17 IUPDATE TO 6TH ED. (2017) FBC |LFS
1/22/15 |UPDATE TO 5IH ED. (2014) FBC |LFS | PART OR ASSEMBLY:
4/24/14 |ADD FRAME SIZE

8/10/20 | UPDATE TO 7th ED. (2020) FBC [DAC
8/22/16 |RENUMBER DRAWINGS

12/08/21|SERIES NAME CHANGE

NO.| DATE

6
5
4
3
2
1

REVISIONS

2
S
&
>
W

Z
—'
n

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—14907.1

SHEET _7 oF _7

@ 2013 R.W. BUILDING CONSULTANTS INC.



